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@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)
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@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)
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@ 6x% +x-15=(2x-3)(3x+5)
@ 6x% +3x-15

® 6x% - 9x—15=3(x+1)(2x - 5)
@ 6x% +9x - 15 = 3(x - 1)(2x + 5)
® 6x* +13x—15 = (x + 3)(6x — 5)
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(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2
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(x+3)(x—4)=0

Lx=-3EE=x=14




>
o)
Q
i
=

19. o3 3 A 5 p, g, r & T34

getfe s g st a2 0 5
Y

P=V3+V5,¢g=V3-2,r=+5+2

O A=p, B=¢q, C=r @A=q, B=p, C=r
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@B:r, C:ps D:q

B

1) p. q. r & W& BAE WA R
Wp-g=V3+V5-(V3-2)=V5+2>0:p>gq
2)g-r=v3-2-(V56+2)=V3-V5-4<0..r>q
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@ x=6, y=-4 © x=6,y=4
© x=-6, y=-4 ® x=-6,y=4
@ x=4,y=6 ® x=-4,y=6
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